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Candidates should answer in their own words
and adhere to the word limit as practicable.
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1. Answer any three questions from the following:
Pl~fd1~c<T-~ ~ ~~1fI'8~

4x3 = 12

(a) Why demand for inputs called 'derived demand'?

c<A ~~'Bf t>1~rc<P ~ ~ ~ ~ ?
(b) Under price discriminating monopoly, price is lower in the market with

more elastic demand. Do you agree with this statement?

~ ~ ~<:PCt)fG~( <p(~<11C'51~~ c<T~ ~ ~~ ~ ~ ~
~ ~ ~ ~ I ~~ <1\{3>C<1J~~~ ~ c9f!<Tt:f~ ~ ?

(c) What is 'dead weight loss' under monopoly?

~<:pct>fGm <pl~<11C'51~~~rn(~~) ~ ~ ~ ?

(d) Describe the conditions of exchange-efficiency in a two person, two good
model.

~. \(3 ~ 9ft:jJ ~~ RPl~~1"1ii4~r:I~~<fcf.n ~ I

(e) State the conditions for success of a Cartel.

~~5'f1q<p~~ (Cartel) ~1<rCii4J~ ~~<fcf.n~1

2. Answer anyone question from the following:

~c<T-~I£1~~~~~

8xl = 8

(a) Explain how the insurance companies maintain economic viability by
operating on large scale based on the law of large numbers.

fl ~Ff1 ~ ''5!f~ ~,<lT8" ~' fQ,fuc~ 9ffut)Ifd1~ ~ PlC\SlCl't~
\5f~~ ~mt;"4?

2045 Turn Over



B.A./B.Sc./Part-II/Hons./ECOA-III/2018

(b) Explain with reasons that a labour supply curve might be backward bending.

~ c<l1t;fR@"<!t 9f"Dt~~~ ~ 9fI@ - ~~ ~'i <u1~ ~ I

(c) Is there exists any unique supply curve under monopoly? Explain your
answer.

3. Answer any two questions from the following: 15x2 = 30

H".ita1~c<l-~~~m~g

(a) Explain the concept ofNash equilibrium. Is the duopoly model explained by 5+5+5
Coumot attend a Nash equilibrium? Why the firms will not be willing to
play cooperative game strategy in this case?

~ \S8Pl~ ~ ~ c<m<m ? ~ ~~ ~ <mf 'JJG~ ~ \S8PlfC~J
~~~?~~<mf'JJG~~~~-.n~?

(b) "Rent is not income of a particular factor of production but merely an aspect
of income of any factor of production". - Explain.

"~ c<Pf.l ~ ~~~ ~"BT, ~ ~ c<l~ ~~~ ~ \5f,xt
~"I-<u1~~1

(c) Show that perfect competition is neither necessary nor sufficient to ensure
Pareto optimality.

Qf~'e c<l~ (Pareto) C~~l!j)\!)rn~ <11~<:Hrn\b ~ ~ '1'1'~ ~
~ ~ <R:~ ~Rf;~"BT I

(d) Write short notes on any two of the following:

~ c<l-~ ~ ~~ ~,fiiI>~ ~ CC'K"<!tg

(i) Monopolistic and monopsonistic exploitation of labour

~<1lCt)fG~1 ~ 'e ~~ ~ ~'i

(ii) Adverse Selection and Moral hazards

~~'e~~m
(iii) Adding up problem

c<lfC'iBf~

(iv) Two person zero sum game.

~fi~~~1

Group-B
~'1t-~

4. Answer any three questions from the following:

~c<l-~~~m"ft'eg

4x3 = 12

(a) Distinguish between fixed and flexible accelerator.

fu -e ~~ 9ft~ m9f'i ~ I
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(b) Under what circumstance the short run Phillips curve can be vertical?

f.$ 9jm~jVbc~ ~~<t'lcil"l ~~ @~~\5l11jVb'!1 ~ ~?

(c) Distinguish between 100% reserve banking and fractional reserve banking.

'1'f~~~Cf <lJl~<lJ<l~ '{3 ~m~~~~~Cf <lJl~<lJ<l~'!19ft~ m9fCf<P@l1

(d) What are the limitations of Keynesian Absolute Income Hypothesis to
explain consumption behaviour?

CBl'1t~ ~Cf <ut~ c~Jt1{1 ~ \5fffi .2jjVb<t'~fG'!1~~1<l'ai~1 f.$ ?

(e) Why is disinflation painful? What are the requirements of painless
disinflation?

5. Answer anyone question from the following:

~8f-~~<PffJ~ffi~~

8xl = 8

(a) What are meant by credit creation and credit control? Do you think that the 3+5
commercial banks collectively can create credit in a fractional reserve
banking system?

~Cf ~ '{3 ~Cf mCf ~ f.$ c<nc<m ? ~ f.$ ~ <P@l ~~~ ~~cf ~ ~
~~fafl£l~~Cf~~~ ?

(b) Explain the costs of unanticipated inflation and anticipated inflation.

\5l"l;ffil\5 ~1~R> '{3 ~ ~1~R>'!1 ~faf ~ <P@ll

(c) On what market imperfections does each theory of aggregate supply rely?
What do the theories have in common?

~~ 8f1~ ~ ~ C<t'f.l ~ ~ \5l'1~ '{3?8f ~ ? l£l~
~~ ~(jJ C<t'f.l,~ ~(f8fCf ?

6. Answer any two questions from the following:

~8f-~~~ffi~~

15x2 = 30

(a) What is the difference between Transaction theories and Portfolio theories 3+ 12
of demand for money? Explain how money can be treated as an inventory to
show that the transaction demand for money has interest sensitivity.

~ ~ ~-~ '{3 ~~ ~(jJ 9ft~ f.$ ? \5l~ ~ ~ 9f'1J~
~ 8f fftHC"t"l~~~'Gt<t'1<t'~~ ~ ~ ~ ~?8f~ I

(b) What are the different forms of investment? What is Tobin's 'q'? In what 6+2+4+3
respect is this theory related with the neo-classical theory of investment?
How is Tobin's 'q' influenced by stock market fluctuations?

MHCmC~ ~ ~faf f.$ f.$ ? ~ 'q' ~ <KC1? C<t'f.lM C~ l£l~~
MHC{1rr;~-;ru(~1~<t'JW1~~~?~<l1~181'!1~~~'q'
~~~?
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(c) How did the New Keynesian economists explain the stickiness of wages and
prices in the short-run? - Discuss.

~ c<t5~~~ '5f~N5~q~t ~ 1l'tt~tcc1 ~ I!l~ ~ fu\5t <ut<m ~(3lC~~ ?
\5lt(ft1tt)~t~ I

(d) What are the instruments of Monetary Policy? Explain how money supply is
related with the stock of 'high powered money'. In this connection, show
that, money supply is not totally policy determined.

~ ~ ~~~ ~ ~ ? '5fC~ 8l1'iiR~ \Sb()'4'~~~ '5fC~ ~~
~ ~ ? I!l~ ~ ~'B c<T,'5fC~ 8l1~ ~ ~~ ~ Pl.£1Rj\5 ~ I
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